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BGL | N K4 7w K| A > |GROSS| HDCP | NET | crossif T IBGz | SN K4 77 N A2 |GROSS| HDCP | NET |crosshafi e
1= = 43 46 89/19.2 |69.8 24 45|3F 5 R 44 44 88/12.0 176.0 18
AN N 41 37 78| 7.2 |70.8 1 46 |55 Ko 40 40 80| 3.6 |76.4 2
RIPANE R 45 47 92(20.4 | 71.6 34 4781 EA 49 43 92| 15.6 | 76.4 32
41 AR P 51 46 97| 25.2 | 71.8 54 48| cfE FHE 39 46 85| 8.4 |76.6 9
5l HE 49 48 97| 25.2 | 71.8 55 49| T H H5 48 49 97/20.4 |76.6 56
6| IAA 42 42 84(12.0 | 72.0 7 50| (L #IE 47 48 95| 18.0 | 77.0 48
T\ HH Bl 40 49 89| 16.8 |72.2 25 51| e 47 41 88/10.8 |77.2 15
8|11 FEH 57 50| 107|34.8 | 72.2 76 b2|kE ) & 47 47 94|16.8 |77.2 42
9| BT RKE 48 46 94/ 21.6 |72.4 41 53| f1H IETR 44 50 94/16.8 |77.2 46
10/ HF B 44 49 93(20.4 | 72.6 37 b4|'EAR =HE 56 56| 112(34.8 |77.2 84
117 =1 46 52 98] 25.2 |72.8 60 55| 8N 5L 43 44 87| 9.6 |77.4 14
12\ i & 46 45 91/ 18.0 |73.0 29 56|/NEF RIS 47 52 99| 21.6 | 77.4 63
13|7KE Mk 46 45 91/ 18.0 |73.0 30 57| AR s 46 53 99/21.6 |77.4 64
14| #5H 2 38 47 85/ 12.0 |73.0 10 58| K& Ik 52 59| 111/33.6 |77.4 82
15 HE ' 43 41 84(10.8 | 73.2 6 59| 5 B 42 44| 86| 8.4 |77.6 12
16| 1Lk} 22 2= 44 58| 102|28.8 |73.2 70 60 | fa B Rl 41 45 86| 8.4 |77.6 13
1715 IR 41 42 83 9.6 |73.4 5 61| EfG e 53 51| 104|26.4 | 77.6 73
18| AHs ZE5L 45 44 89| 15.6 |73.4 20 62| IR & 45 53 98/20.4 |77.6 61
19811 B 44 45 89| 15.6 |73.4 21 63| =iH #F*H 49 55| 104|26.4 | 77.6 74
20| /A R 46 48 94]20.4 | 73.6 43 64 |RIR &isE 50 52| 102]24.0 |78.0 68
21|13 H ®EH 44 50 94(20.4 | 73.6 45 65| T H =E 44 45 89/ 10.8 | 78.2 22
22|7L O YET 47 46 93 19.2 | 73.8 35 66| KKk EE 45 43 88| 9.6 |78.4 16
23| H B 41 52 93/19.2 |73.8 40 67 &I F9L 45 43 88| 9.6 |78.4 17
24|70 Hr—HR 57 53| 110/36.0 |74.0 79 68| HH FnHl 43 45 88| 9.6 |78.4 19
25| HH{E I A 48 49 97| 22.8 | 74.2 57 69 [f@lRr Fnd 51 49| 100/21.6 |78.4 65
26| 5N B 47 43 90| 15.6 | 74.4 26 0/ HF EiR 47 46| 93| 14.4 |78.6 36
27 AR HA 44 46 90| 15.6 | 74.4 27 TLRHE WA 44 49 93/ 14.4 1 78.6 38
28| FIL FEfE 43 40 83| 8.4 |74.6 4 72/HH AL 49 49 98/ 19.2 | 78.8 58
29|57k IGE 45 50 95/20.4 |74.6 49 T3/ H ik 47 51 98/19.2 |78.8 59
30|17 Wt 49 52| 101]26.4 |74.6 67 74/1Li@ FIBA 54 53| 107(27.6 | 79.4 77
31| Ly Ad7- 49 51| 100]25.2 |74.8 66 75| tEAR HEHL 48 51 99/19.2 |79.8 62
32|31 HE 41 40 81| 6.0 |75.0 3 76| FHITE 51 52| 103]22.8 |80.2 72
33| EAs IE 44 49 93] 18.0 | 75.0 39 7T f 44 51 95| 14.4 |80.6 50
34|3+H 54 59 52| 111]36.0 |75.0 81 T8|VHH 5E 52 55| 107|26.4 |80.6 78
35|k FE— 51 41 92| 16.8 | 75.2 31 9| TE Fz 55 51| 106]25.2 |80.8 75
36— LRk 44 42 86| 10.8 | 75.2 11 80| &1 EHET 57 60| 117/36.0 |81.0 87
37\ KR AR 45 47 92| 16.8 | 75.2 33 81 |TH4L IR 46 48 94/ 12.0 182.0 44
38| Fn FRE 53 43 96| 20.4 | 75.6 51 82|/ H k= 59 53| 112]30.0 |82.0 83
9T B 39 45 84| 8.4 |75.6 8 83| ¥ H AR 45 57| 102/19.2 |82.8 69
40 |\ f8 B BUE 50 46 96| 20.4 | 75.6 52 84| = 55 55| 110/26.4 |83.6 80
41| /Nt 2 40 50 90| 14.4 | 75.6 28 85| T -+ 49 47 96| 12.0 |84.0 53
42| H ¥ 44 58| 102|26.4 | 75.6 71 86 | FH = 53 59| 112/27.6 |84.4 85
43| B IRy 2 50 45 95/ 19.2 | 75.8 47 87 | HHT fE— 58 56| 114]/27.6 |86.4 86
44 %nE HE 44 45 89(13.2 | 75.8 23
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